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CERTIFICATE IN SHOE UPPER CUTTING

Term-End Examination
December, 2010
OET-012 : MATERIAL COSTING AND CUTTING
Time : 2 hours ’ Maximum Marks : 100

Note : All the questions are compulsory.

1. Match column A with column B : 10x2=20

Column - A Column - B

(@) P.V.C Coated Fabric (I) Nap Effect

(b) Scale Area (II) Grain Matching

()  Area of Parallelogram (II[) Synthetic |

(d) Goat Leather (IV) =5% size to size

() Nubuck Leather (V) 7-9mm

(f) B grade Leather (VI) 12-14 mm

(g) Third waste (VII) Area of

Parallelogram

(h) Weighted Normin  (VIII) Leather Grade

English Size System Waste

()
)
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Underlay Allowance (IX) 8% Defective Area
Lasting Allowance  (X) Base X Height
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2. Fill in the blanks : 2x10=20

(@ In case of split/suede leather

G= used.

(b) Flay cut defectfound on the side
of leather.

(c) Area is the strongest part of the
Hide/Side.

(d) Parallelogram area in RSM is known as

() 18.58 dm? will be equal to
sq.ft.

(f) Velvety effect found in leather.
(g ___is man made defect in leather.

(h) Pairwise cutting and grain matching is
required in leather.
() 1dm?= cm?.

() Weighted normin Paris Point varies one size
to another size by %.

SHORT ANSWER TYPE QUESTIONS 8x5=40

3. What do you mean by line of tightness and
stretchiness in leather ?

4. Explain the different part of the Hide/Side ?
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5.  What are the main characteristics of goat leather ?

6. How you will calculate the scale area by 0°
method ?

7. What is Work - Ticket ? Why it is used ?

LONG ANSWER TYPE QUESTIONS

Answer any one of the following : 20x1=20
8.  List the types of documents and explain them,
which are required for clicking.
OR

Explain the different types of synthetics and
textiles materials used for shoe upper making ?
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aggaﬂqm 8x5=40
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